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Instructions Date: _ _/__1/2018

1. Separate into groups of no more than three persons. The group cannot be the same Name I D (last 3 digits)
as any of your former groups after the midterm.

2. Write down all the steps that you have done to obtain your answers. You may not get
full credit even when your answer is correct without showing how you get your
answer.

3. Do not panic.

Continue from Exercise #18.

d. Suppose the Gram-Schmidt orthogonalization procedure (GSOP) (where the signals are applied in

the order given) is used to find two orthonormal functions ¢ (t) and ¢, (t) that can be used as

axes to represent s, (t) and s, (t). A
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ii. Find and plot ¢, (t). 1 :
V24 .
] z r ﬂii-ji
. T
e, = Jurwodes fernides 5
- T 1
° V2420 / @,
:f—+’—1=1.1'&-§-:."—.'- /(-/2-‘\-- ! :
6 > & © [_1 (£-1) o<t ez OZTE e SRR -
ol
., (&) e -
N LN 2 v, Lbdn,
it 29 * 5%
«.‘ o o‘\‘lnclv-;ae .

s
Al = -1‘;/51&; v, lb)= -1;‘_2-5125,‘-19 - }%:_g!,_tt) = Jé)b, Ll-)*ﬁ:; B, LErx 031 B, L) + 2.2 8 LE)

iii. Find the two vectors, 5" and 51, that represent the two waveforms Sl(t) and s, (t) in

the new axes based on ¢, (t) and ¢, (t). Draw the corresponding constellation in the figure

below.
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